Year 4 Arithmetic Test 2 teStbase

Ex§5=

1 mark
7x11=

1 mark
4 x4=

1 mark
42 x 0=

1 mark
42+6+6=

1 mark
35+1=

1 mark
9090 - 1000 =

1 mark
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Year 4 Arithmetic Test 2 teStbase

3B-7-7=

1 mark
12 x 8 =

1 mark
2800 + 1100 =

1 mark
2x3x5=

1 mark
550 -?=130

1 mark
33+3=

1 mark
24 +12 =

1 mark
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Year 4 Arithmetic Test 2 teStbase

63 +9=

1 mark
7623 + 528 =

1 mark
?+220=700

1 mark
B1x7=

1 mark
8800 - 900 =

1 mark
72 +6=

1 mark
Ex6x4=

1 mark
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Year 4 Arithmetic Test 2 teStbase

1
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1 mark
5 2_
7 7
1 mark
375
x 3
1 mark
8123
- 3558
1 mark
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